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Q.1

Ans

Comprehension:

Refer to the below passage and answer the questions.

A thing of beauty is a joy forever Its loveliness increases, it will never Pass into nothingness;
but will keep A bower quiet for us, and a sleep Full of sweet dreams, and health, and quiet
breathing. Therefore, on every morrow, are we wreathing A flowery band to bind us to the
earth, Spite of despondence, of the inhuman dearth Of noble natures, of the gloomy days, Of
all the unhealthy and o'er-darkened ways Made for our searching: yes, in spite of all, Some
shape of beauty moves away the pall From our dark spirits. Such the sun, the moon, Trees old,
and young, sprouting a shady boon For simple sheep; and such are daffodils With the green
world they live in; and clear rills That for themselves a cooling covert make ‘Gainst the hot
season; the mid forest brake, Rich with a sprinkling of fair musk-rose blooms; And such too is
the grandeur of the dooms We have imagined for the mighty dead; All lovely tales that we
have heard or read; An endless fountain of immortal drink, Pouring unto us from the heaven’s
brink.

SubQuestion No : 1

Select the most appropriate meaning of the given word below.
Dearth

&" 1. an amount or supply that is not large enough
/X 2. the level of a particular element in the outer layer of the earth
#< 3. the fact that there is abundance of something

#5 4. the group of people at a particular level in an organization

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680444002
6306801733332
6306801733331
6306801733333
6306801733334
Answered

1




Comprehension:

Refer to the below passage and answer the questions.

A thing of beauty is a joy forever Its loveliness increases, it will never Pass into nothingness;
but will keep A bower quiet for us, and a sleep Full of sweet dreams, and health, and quiet
breathing. Therefore, on every morrow, are we wreathing A flowery band to bind us to the
earth, Spite of despondence, of the inhuman dearth Of noble natures, of the gloomy days, Of
all the unhealthy and o’er-darkened ways Made for our searching: yes, in spite of all, Some
shape of beauty moves away the pall From our dark spirits. Such the sun, the moon, Trees old,
and young, sprouting a shady boon For simple sheep; and such are daffodils With the green
world they live in; and clear rills That for themselves a cooling covert make ‘Gainst the hot
season; the mid forest brake, Rich with a sprinkling of fair musk-rose blooms; And such too is
the grandeur of the dooms We have imagined for the mighty dead; All lovely tales that we
have heard or read; An endless fountain of immortal drink, Pouring unto us from the heaven’s
brink.

SubQuestion No : 2
Q.2 Identify the suitable title for the passage.
Ans  &* 1. AThing of Beauty

X 2. Joy forever
/< 3.0Id and new tress and their beauty
#5 4. Grandeur of the dooms

Question ID : 630680443999
Option 11D : 6306801733321
Option 2 ID : 6306801733319
Option 31D : 6306801733320
Option 4 ID : 6306801733322
Status : Answered
Chosen Option : 1

Comprehension:

Refer to the below passage and answer the questions.

A thing of beauty is a joy forever Its loveliness increases, it will never Pass into nothingness;
but will keep A bower quiet for us, and a sleep Full of sweet dreams, and health, and quiet
breathing. Therefore, on every morrow, are we wreathing A flowery band to bind us to the
earth, Spite of despondence, of the inhuman dearth Of noble natures, of the gloomy days, Of
all the unhealthy and o’er-darkened ways Made for our searching: yes, in spite of all, Some
shape of beauty moves away the pall From our dark spirits. Such the sun, the moon, Trees old,
and young, sprouting a shady boon For simple sheep; and such are daffodils With the green
world they live in; and clear rills That for themselves a cooling covert make ‘Gainst the hot
season; the mid forest brake, Rich with a sprinkling of fair musk-rose blooms; And such too is
the grandeur of the dooms We have imagined for the mighty dead; All lovely tales that we
have heard or read; An endless fountain of immortal drink, Pouring unto us from the heaven’s
brink.

SubQuestion No : 3
Q.3 Identify the central theme of the passage.
Ans X 1. Everything present in nature is not a source of pleasure and thing of beauty.
o« 2. There are numerous things which bring us suffering and troubles and dampen our
spirits. In spite of such unpleasant things, some form of beauty brings happiness to our lives.

/X 3. There are numerous things which cause us pain and suffering. Disappointment is not
the biggest source of our suffering there are other attributes as well.

X 4. In spite of a lot of sufferings in our life there are limited source of pleasure and joy.

Question ID : 630680444000
Option 11D : 6306801733324
Option 2 ID : 6306801733323
Option 3 ID : 6306801733325
Option 4 ID : 6306801733326
Status : Answered
Chosen Option : 2




Q.4

Ans

Comprehension:

Refer to the below passage and answer the questions.

A thing of beauty is a joy forever Its loveliness increases, it will never Pass into nothingness;
but will keep A bower quiet for us, and a sleep Full of sweet dreams, and health, and quiet
breathing. Therefore, on every morrow, are we wreathing A flowery band to bind us to the
earth, Spite of despondence, of the inhuman dearth Of noble natures, of the gloomy days, Of
all the unhealthy and o’er-darkened ways Made for our searching: yes, in spite of all, Some
shape of beauty moves away the pall From our dark spirits. Such the sun, the moon, Trees old,
and young, sprouting a shady boon For simple sheep; and such are daffodils With the green
world they live in; and clear rills That for themselves a cooling covert make ‘Gainst the hot
season; the mid forest brake, Rich with a sprinkling of fair musk-rose blooms; And such too is
the grandeur of the dooms We have imagined for the mighty dead; All lovely tales that we
have heard or read; An endless fountain of immortal drink, Pouring unto us from the heaven’s
brink.

SubQuestion No : 4
Select the most appropriate SYNONYM of the given word below.

Grandeur
< 1.Blemish
/X 2. Stigma
o« 3. Glory
X 4. Disgrace
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 41D :
Status:
Chosen Option :

630680444001
6306801733330

1 6306801733328

6306801733329
6306801733327
Answered

3




Q.5

Ans

Comprehension:

Refer to the below passage and answer the questions.

In a developing country, an increased use of motor vehicles is often seen as a sign of
prosperity and progress. Consumers and businesses enjoy the convenience and mobility that
cars provide, and this demand has led to the growth of the automobile industry. However, this
growth also comes with its share of problems.

One of the most visible effects of increased vehicle use is traffic congestion. Without proper
infrastructure, such as more roads and traffic controls, traffic jams can cause wasted time
and decreased productivity. This can also lead to frustration and stress for drivers and
commuters. Governments must take measures to improve transport systems, such as light
rail systems, to alleviate the strain on the roads.

Another problem associated with increased vehicle use is air pollution. Fumes and waste
products from cars can cause smog and decrease oxygen levels in the atmosphere, leading
to health issues for citizens. Despite these issues, there are benefits to increased vehicle use.
Governments benefit from revenue generated from taxes on motor vehicles, and the
automobile industry can be a vital engine of growth for foreign countries that export vehicles.
However, it is important to consider the impact that increased traffic can have on a city's
attractiveness to tourists and businesses.

In conclusion, while increased use of motor vehicles can bring convenience and prosperity, it
also comes with attendant problems such as traffic congestion and air pollution. It is
important for governments to balance the benefits and drawbacks and implement measures
to promote sustainable growth.

SubQuestion No : 5

Select the most appropriate meaning of the given word below.
Alleviate

#< 1. causing very great pain, difficulty, worry
«" 2. to make something bad such as pain or problems less severe
#5 3. physical or mental pain that a person or animal is feeling

X 4. afeeling of physical suffering caused by injury or illness

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680443997
6306801733316
6306801733315
6306801733318
6306801733317
Answered

2




Q.6

Ans

Comprehension:

Refer to the below passage and answer the questions.

In a developing country, an increased use of motor vehicles is often seen as a sign of
prosperity and progress. Consumers and businesses enjoy the convenience and mobility that
cars provide, and this demand has led to the growth of the automobile industry. However, this
growth also comes with its share of problems.

One of the most visible effects of increased vehicle use is traffic congestion. Without proper
infrastructure, such as more roads and traffic controls, traffic jams can cause wasted time
and decreased productivity. This can also lead to frustration and stress for drivers and
commuters. Governments must take measures to improve transport systems, such as light
rail systems, to alleviate the strain on the roads.

Another problem associated with increased vehicle use is air pollution. Fumes and waste
products from cars can cause smog and decrease oxygen levels in the atmosphere, leading
to health issues for citizens. Despite these issues, there are benefits to increased vehicle use.
Governments benefit from revenue generated from taxes on motor vehicles, and the
automobile industry can be a vital engine of growth for foreign countries that export vehicles.
However, it is important to consider the impact that increased traffic can have on a city's
attractiveness to tourists and businesses.

In conclusion, while increased use of motor vehicles can bring convenience and prosperity, it
also comes with attendant problems such as traffic congestion and air pollution. It is
important for governments to balance the benefits and drawbacks and implement measures
to promote sustainable growth.

SubQuestion No : 6

Select the most appropriate SYNONYM of the given word below.
Convenience

Z< 1. Burden
75 2. Weight
/< 3. Load
o 4. Amenity
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680443996
6306801733311
6306801733312
6306801733314
6306801733313
Answered

4




Q.7
Ans

Comprehension:

Refer to the below passage and answer the questions.

In a developing country, an increased use of motor vehicles is often seen as a sign of
prosperity and progress. Consumers and businesses enjoy the convenience and mobility that
cars provide, and this demand has led to the growth of the automobile industry. However, this
growth also comes with its share of problems.

One of the most visible effects of increased vehicle use is traffic congestion. Without proper
infrastructure, such as more roads and traffic controls, traffic jams can cause wasted time
and decreased productivity. This can also lead to frustration and stress for drivers and
commuters. Governments must take measures to improve transport systems, such as light
rail systems, to alleviate the strain on the roads.

Another problem associated with increased vehicle use is air pollution. Fumes and waste
products from cars can cause smog and decrease oxygen levels in the atmosphere, leading
to health issues for citizens. Despite these issues, there are benefits to increased vehicle use.
Governments benefit from revenue generated from taxes on motor vehicles, and the
automobile industry can be a vital engine of growth for foreign countries that export vehicles.
However, it is important to consider the impact that increased traffic can have on a city's
attractiveness to tourists and businesses.

In conclusion, while increased use of motor vehicles can bring convenience and prosperity, it
also comes with attendant problems such as traffic congestion and air pollution. It is
important for governments to balance the benefits and drawbacks and implement measures
to promote sustainable growth.

SubQuestion No : 7

Identify the central theme of the passage.

#< 1. Without proper infrastructure, such as more roads and traffic controls, traffic jams
can cause wasted time and decreased productivity.

/X 2. Fumes and waste products from cars are the biggest cause of smog.and decrease
oxygen levels in the atmosphere, leading to health issues for citizens.

«# 3. The increased use of motor vehicles comes with different problems such as traffic
congestion and air pollution, however governments need to implementimeasures to promote
sustainable growth and balance.

25 4.n a developing country, an increased use of motor vehicles‘is not often seen as a
sign of prosperity and progress.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680443995
6306801733310
6306801733309
6306801733308
6306801733307
Answered

3




Q.8
Ans

Comprehension:

Refer to the below passage and answer the questions.

In a developing country, an increased use of motor vehicles is often seen as a sign of
prosperity and progress. Consumers and businesses enjoy the convenience and mobility that
cars provide, and this demand has led to the growth of the automobile industry. However, this
growth also comes with its share of problems.

One of the most visible effects of increased vehicle use is traffic congestion. Without proper
infrastructure, such as more roads and traffic controls, traffic jams can cause wasted time
and decreased productivity. This can also lead to frustration and stress for drivers and
commuters. Governments must take measures to improve transport systems, such as light
rail systems, to alleviate the strain on the roads.

Another problem associated with increased vehicle use is air pollution. Fumes and waste
products from cars can cause smog and decrease oxygen levels in the atmosphere, leading
to health issues for citizens. Despite these issues, there are benefits to increased vehicle use.
Governments benefit from revenue generated from taxes on motor vehicles, and the
automobile industry can be a vital engine of growth for foreign countries that export vehicles.
However, it is important to consider the impact that increased traffic can have on a city's
attractiveness to tourists and businesses.

In conclusion, while increased use of motor vehicles can bring convenience and prosperity, it
also comes with attendant problems such as traffic congestion and air pollution. It is
important for governments to balance the benefits and drawbacks and implement measures
to promote sustainable growth.

SubQuestion No : 8
Identify the suitable title for the passage.
< 1. Convenience vs Reality

/X 2. Visible effects of increased vehicle use
/X 3. Developing countries and their issues

«” 4. The Pros and Cons of Increased Use of Motor Vehicles

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680443994
6306801733306
6306801733303
6306801733305
6306801733304
Answered

4




Q.9

Read the below passage:

A wonderful fact to reflect upon, that every human creature is constituted to be that
profound secret and mystery to every other. A solemn consideration, when | enter a great
city by night, that every one of those darkly clustered houses encloses its own secret; that
every room in every one of them encloses its own secret; that every beating heart in the
hundreds of thousands of breasts there, is, in some of its imaginings, a secret to the heart
nearest it!

Which one of the following is the CORRECT logical inference based on the information in the
above passage?

1) Each person does not have a different imagination than the others.

Il) Every person has a dependent existence no matter how close he gets to others.

Ill) Even the people who are very close keep secrets from each other.

Ans X 1.1,1l,and lll only
& 2. lllonly
X 3.1l only
< 4. lonly
Question ID : 630680444004
Option 11D : 6306801733342
Option 2 ID : 6306801733339
Option 3 ID : 6306801733341
Option 4 ID : 6306801733340
Status : Answered
Chosen Option : 3
Q.10 Read the below passage:
The difference in the ways of thinking and perception in the people of two different
generations, which results in behavioural differences and sometimes, conflict among them
is usually called generation gap. Generation gap is generally seen in the family between
parents and their children. It is not only because of the gap in age but also because of the
way parents react to a particular situation. Children, being very young and immature, do not
understand the way of thinking of their parents. In many cases, the parents, even if they are
matured, do not emphasize with the changing values and thinking pattern of the modern
world. This creates a communication gap between the two generations.
Which one of the following is the CORRECT logical inference based on the information in the
above passage?
1) Generation gap is a result of the difference in the ways of thinking and perception of two
different generations.
Il) Parents have a different way of thinking which is often not understood by their young
children.
1ll) The difference of opinions and thinking between generations is not only because of the
age but due to different ways of reaction as well.
Ans X 1.1 &Il only
X 2. 1lonly
& 3.1, 1, &l only
X 4.1&1only
Question ID : 630680444003
Option 1 ID : 6306801733336
Option 2 ID : 6306801733338
Option 3 ID : 6306801733337
Option 4 ID : 6306801733335
Status : Answered
Chosen Option: 3




Comprehension:

"R 9916 96 671l ¥19Q qieN

62 Ae AeIFIel 9Q 2gLHIeN

AR @Q6ll 6019

64 @8Il J @IE 9IQ AGIRA 1"(FQYR QUB)

SubQuestion No : 1

Q.1 ‘919’ 69a FANGIA6RRIF AR Q'61?
Ans X 1.2Q019
o 2. 261019
X 3. ape
< 4900
Question ID : 630680444014
Option 11D : 6306801733374
Option 2 ID : 6306801733372
Option 3 ID : 6306801733373
Option 4 ID : 6306801733371
Status : Answered
Chosen Option : 2
Comprehension:
@GR 9916 96 671l Q190 QIeN
62 Qe JeIFIGI 9Q Agddien
URY @QEll 66129
64 @8Il 3 Q1@ IR AGIRR 1"(FRFeR QIB)
SubQuestion No : 2
Q.2 QaeaIg FAGIaTen ‘Y’ aaq 2l a8 ?
Ans o 1.499
X 2,001
X 3.2
X 4600
Question ID : 630680444011
Option 11D : 6306801733361
Option 2 ID : 6306801733359
Option 3 ID : 6306801733360
Option 4 ID : 6306801733362
Status : Answered

Chosen Option :

1




Comprehension:

"R 9916 96 671l ¥19Q qieN

62 Ae AeIFIel 9Q 2gLHIeN

AR @Q6ll 6019

64 @8Il J @IE 9IQ AGIRA 1"(FQYR QUB)

SubQuestion No : 3

Q3 ‘ag aades?
Ans X 1.q2Q
X 299
o 3. 60l
X 4. Qe
Question ID : 630680444012
Option 11D : 6306801733364
Option 2 ID : 6306801733365
Option 31D : 6306801733363
Option 4 ID : 6306801733366
Status : Answered
Chosen Option : 3
Comprehension:
"2 QQlel B 641 @19 qien
62 Qe JeIFIGI 9Q Agddien
AR @Q6ll 6019
69 @Q4l g QIE GIQ AGIRAR 1"(FIYeR QIB)
SubQuestion No : 4
Q.4 {6qIg 689 QT ‘A9’ feg 9E1Na?
Ans X 1.Q81
X 2. Qe
o 3. 71e%g
X 4. a1
Question ID : 630680444013
Option 11D : 6306801733367
Option 2 ID : 6306801733369
Option 31D : 6306801733370
Option 4 ID : 6306801733368
Status : Answered
Chosen Option : 4




Q.5 MYQIQ AER AIRAF ANGER ARICQ '8 9F 2deem?

Ans o 1.06Q 62 Q661 JPRITR, @RIEYF B JROQRQ 69Im FIYFIQ ARIEQ 98 aIdgem |
< 2. 6R4IR 2RFIQ FIQEIRI BAR 2@ A7 *ALIRAIRS 64 @2l 9F 2Idejem |
X 3. 602 QU 2rong IRI0 @8l AR 98 A2 |
X 4,069 620 @66l AVRR 6l QB26M |

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680444016
6306801733381
6306801733379
6306801733380
6306801733382
Answered

1

Comprehension:

6ea fif QBRI 60 AERIF @ 6618 4IQ GRS 2IT6a | 692JAIR AEPRIA JI6R8Ha AARIAF 00! @@
AReMl | GRSIQ AR JEIIRERR A ARIC RQIRIRLYEM | SR ARG 2ROR | GaErlR GFell
1560 @ qF 6alagml 661 el QIEIQRe! |

YRR 660 @g 90 6a0 AQeR | 64 PIFEA ARIAR 2ISTEI0 ARl APRA JALAER JQ REHIAR!
@ RIQ 2D | 86R ARG SIARgS RaigIg @RS 2R 668@ 2GR QIR | 6a2j6Q 64
AIRABRjEM J2IFl ATRG! | QORIQ 60 GREN 2GR 619l, AIRIQ QYA 6QIg?

U6QI9Q 606l R6REIR 2IALIRYRI | GRS ARFIQ FIASIRIER 6RIA6AIQ FIF REIR 69RY6M FGARR |
eleeda Jeeme 6dodi 605 6om 64 6 ARERER JREY ARIAT AIRAAIL AR 25 @AY |

662 QF MR R°6RE IARIQ TERITER 62 @ JEIT6R 621, AR ARG QLR §ITr AYR @R]F | FIg
gair 2@ diel §19ea 6aIRaE 2Igag aeR | A8 @ @6 1 geaid |

Uere QF 06R ARLAIL, RS 6718 BEEI ARHR6R AR 6AIRRI 621 | G121 Ml €99 AAQ @2l
| 608 6QNER SIRIFIR G1AQ AARER AR @R FIQIN6R 64 2Teleg GREN| FIg @1, 69R0
6dIG6QAUREAR 6610 21 RIFR K66l BRIG! AR1Q GAIRIAIGER ALIRR JIE 2RIR6M 64 | B AAQ BHEI
21dQ) diel R4 61610 QURARIL, AR QRIR FS6M |

RO RGP 960 AR AR6A IRIATE 621R IF 69R26m @6R 64689 | 6d em Joalde, @mIege
J8 9eegaQ | (YQIQ ARIER 9F 2Idejem 6a4Q | @RIEde F8AA 2N 66lISN QIR G 6RIFR Q6 |
0lg QIsaIR g6l AIREM A% 2@ £ | 6AQ ReIP AR AF ARRARIER FeICIP J6RA AYJR Yo
RREM IR AQRRR dQ | I8 Je6a BRI QISIAIET 2°eng YRI0 @ Y@ SITRRIR @R Qgel MIE 6
48§ @agIae atgem |

SubQuestion No : 6
Q.6 er99 dex QUQAAAALNER G@GII 2131 JIR 7R Q@ PEARQIQ RINE K617

Ans & 1.2799 (dQI6R QIRIAIL, MG 6716 BRI 2IdQl AR 6AITEQUIRER GRIRILIFER QKRS
R2JRIQ R4 6xI61@ QURLAIL, BFEI 21T (IR ARIARZER |

X 2. 9106 BRI 2RFIQ FIQSIRIER 6RIQ6AIRQ RIF SIS |
X 3. 106 692 QF 6rQ2IAER 64 2ILIAIR §1A AR FQ2ER |
X 4. 9108 QIRAAICCIER Afleg JOQ GRS 21 ARejem |

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680444008
6306801733351
6306801733354
6306801733352
6306801733353
Answered

1




Q.7

Ans

Comprehension:

¢leq AR aReml 60 QM 9 6618 JIQ GPEI 2IT6Q | 692dIn ERIR JI6RER JORIaF 0Ias! 9Q
CIRgMl | GR6Ia AR ISIIRYFR ikl ARl 62IRJAEEM | AR FPNER 2AOR | FAEF1R BRI
1560 @ qF salngml 66lie el QIEIQRe! |

ARYGeR 66lIe @g 0 620 AQem | 6d PIEEA AARIAR 2IS1AI0 ARl ARRA IALAER JQ REFIAR
QR JRIR 2409 | 2160 QINEA SIIREE R2Islg QB 2IQ 608R AgRl AIE | 6a2j6a 64
AIRARLEM J2Ifl ATRG! | QORIQ 60 BHEI AR CI9), AIVIQ QYA 6QIg?

U6QI9R 606l AEREIR 2ITLIRYRI | GRS ARFIQ FIASIRIER 6RIR6AIQ FIF REHIR 69RY6M FGIRR |
claade doee 6dled 605 60r 6d (6 AR 420 ARIA1 AIRAAIL FERS 2lIE 9R5Q |

662 QF YA R°6RE IARIQ TERAITER 624 @ JEIT6R 624, AR ARG YR 6Iar VYR @ReY | FIg
geIel 2 AR §1I9RQ ARG 2AIGRR AaR | 78 @7 68 1 g6QId |

A6re 0 G6R AR, RE 6718 BREI ARRFRER 2ITRIA 6AIRR! 6QRYRI | ORI Rl €99 AR @2l
| 698 6CQAINIER ARIFIR 1A AARER AR @R QIRIR6R 64 2Idelsy R4l | FIg 18, 69R0
6AICEQIR6R 661Q 291 RIFR G6El BRIRI RR1Q @RIRIIFER ARG JIEl 2AIRER 64 | 61 AQ BB
21T AR AQY 67168 QIRANIL, 1R ARIR FLEM |

RO IRGIRE 968 QIAG QEEA IRIEY QIR T 6ARZEM @6 67629 | 6a 26m Ho2IdR, eRIEIM
Q8 JR6QaQ | FQIQ ARIeEa 9F 2Idejsm 69Q9 | @RI FIEINR 2N 66161 QIR G 6R1FR Gl |
09 QIsaIa g6l AIREA A% A2@ £ | 6AQ RelP FAREA AF AFRAAIER FelCIy J6RA AYJR Yo
RREM IR 2ARRLR dQ | I8 Je6a BRI QIBIIGT 2°0Rg IR0 @8 Y@ SITRRIR @R QEel RIE 62
48 QagIae etejem |

SubQuestion No : 7

QAEAIG APERRTQ G11dR Q'8 621RANER?
X 1. dorne Gael
X 2. Q@adal
X 3. Q00 QI

W 4. RYQI9F QRIS

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680444006
6306801733343
6306801733346
6306801733345
6306801733344
Answered

3




Q.8

Ans

Comprehension:

6leq AR aReml 60 QM 9 6618 JIQ BPEI 2IT6Q | 692dIn EFRIR JI608R JORIAF 0S| &
CIRgRl | GR6Ia AR ISIIRYRR i)l ARl 62IRJAEEM | AR FENER 2RAER | FAEFR1R BF2
1560 @ qF salngml 66lie el QIEIQRe! |

YA 66l @g 10 620 AQem | 6d PIEEA AARIAR 2IS1EI0 ARl ARRA IRLAER JQ REFIAR
Q@ JRIQ 2409 | 2160 QINGA SIIREE R2Iclg QB 2IQ 608R AgRl RIE | 6a2j6a 64
AIRARLEM J2Ifl ATRO! | QORIQ 60 BHEI AR CI9), AIVIQ QYA 6QIg?

U6QI9Q 606l RERCIR 2ITCIRYRI | GRS ARFIQ FIASIRIER 6RIR6AIQ FIF REHIR 69R6M FGIRR |
claade doee 6dled 605 60r 6d (6 AR 420 ARIA1 AIRAAIL, FERE 2lIe 905G |

6162 QF YA R°6RE IARIQ TERITER 62 @ JEIT6R 626, AR AR YR 6Iar VYR @AY | FIg
geIel 2 AR §19RQ A6QIRRGI 2AIGRR AR | 78 @7 68 1 g6QId |

Aere 0 G6R AR, RE 6718 BREI ARRFR6R 2ITRIA 6AIRR! 62RYR | ORI Rl €99 AR @all
| 698 6CQAINIER ARIFIR 1A AARER AR @ QIRIR6R 64 2Idelsy GR6l | FIg 1L, 69R0
6AICEQUIRER 661Q 291 RIFR G6El BRIRI 9R1Q @RIRILIFER ALIRR JI6l 2AIRER 64 | 61 AQQ BB
21T AR QY 67168 QIRANIL, AR RIR FEEM |

RO IRFIRE A68 QIAG QEEA IRINEY QIR Tf 6ARCEM @6 69629 | 6a 26m Ho2IdR, @RIEgN
Q8 J96QaQ | FQIQ ARIeEa 9F 2idejsm 6999 | @RI AIEIFR 2N 66161 QIR G 6RIFR Gl |
09 QIEaIR g6l AIREA AME A2@ £ | 69RQ Rel FARGA AF AFRAAIER FelCIy J6RA AYJR Yo
RREM IR 2ARRLR dQ | I8 Je6a BRI QIBIIGT 2°0ng IR0 @8 Y@ SITRRIR @] QEel RIE 62
48 Q4gIae etejem |

SubQuestion No : 8

AQRIQR 2IGNTIQ TR @6 AAAQ 6QIR AYRIQ RI&2EM?
o 1. A0RIOR 2ISNGIQ S0l GH4Ig 4Ry QIRIQ AJYIQI TRl 2AAe 691R ILIQ FIEER |
X 2. )YeIg BRIeg 6rAAIRES AIE |
X 3. Q0mIg oF 6618 gaQ BRHEI A1TAIRER AIE |

X 4. YRR QIRI0g 6619 QIR fRAIRES AIF |

Option 3 1D
Option 4 ID
Status

Question ID :
Option 11D :
Option 21D :

630680444007
6306801733349
6306801733348

1 6306801733350
: 6306801733347
: Answered

Chosen Option :

1




Comprehension:

6leq AR aReml 60 QM 9 6618 JIQ BPEI 2IT6Q | 692dIn EFRIR JI608R JORIAF 0S| &
CIRgRl | GR6Ia AR ISIIRYRR i)l ARl 62IRJAEEM | AR FENER 2RAER | FAEFR1R BF2
1560 @ qF salngml 66lie el QIEIQRe! |

YA 66l @g 10 620 AQem | 6d PIEEA AARIAR 2IS1EI0 ARl ARRA IRLAER JQ REFIAR
Q@ JRIQ 2409 | 2160 QINGA SIIREE R2Iclg QB 2IQ 608R AgRl RIE | 6a2j6a 64
AR JaIFl ATRE! | QORI 60 GRE AIGRF GIQ), RIFIQ ARYE 6QIG?

U6QI9Q 606l RERCIR 2ITCIRYRI | GRS ARFIQ FIASIRIER 6RIR6AIQ FIF REHIR 69R6M FGIRR |
claade doee 6dled 605 60r 6d (6 AR 420 ARIA1 AIRAAIL, FERE 2lIe 905G |

6162 QF YA R°6RE IARIQ TERITER 62 @ JEIT6R 626, AR AR YR 6Iar VYR @AY | FIg
gairl 2Q die! 6190 d6alpad 2Igag aer | A8 @ g6 1 geaid |

Aere 0 G6R AR, RE 6718 BREI ARRFR6R 2ITRIA 6AIRR! 62RYR | ORI Rl €99 AR @all
| 698 6CQAINIER ARIFIR 1A AARER AR @ QIRIR6R 64 2Idelsy GR6l | FIg 1L, 69R0

6QISEQAREAR 6610 2T FIFIR Q66 BRIRI QRTQ YAIAIAIFER 2CINR 6l 2AIREA 64 | 61 AQQ GBS

2dA) QIR 2ARY 62160 AURAAID, AR ARIR FL6M |

RO IRFIRE A68 QIAG QEEA IRINEY QIR Tf 6ARCEM @6 69629 | 6a 26m Ho2IdR, @RIEgN
Q8 J96QaQ | FQIQ ARIeEa 9F 2idejsm 6999 | @RI AIEIFR 2N 66161 QIR G 6RIFR Gl |
09 QIEaIR g6l AIREA AME A2@ £ | 69RQ Rel FARGA AF AFRAAIER FelCIy J6RA AYJR Yo
RREM IR 2ARRLR dQ | I8 Je6a BRI QIBIIGT 2°0ng IR0 @8 Y@ SITRRIR @] QEel RIE 62

48§ @agIae atgem |

SubQuestion No : 9
Q.9 @FRg @'8 gRIFe QAQ QIR AYIF Q@ e Jem?
Ans X 1. 60610 2eFIQ I8l

o 2. 0024a%Q GR6IA ZIUsY G @M1, 2°gR MO PERF JAIPE PEQ 6QIM FRJQIQ FIEjeM |

X 3. 601669060 621R2QI §86IR SR
X 4. eI 6QIRR!

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680444009
6306801733356
6306801733358
6306801733357
6306801733355
Answered

2

Q.10 2[RRLR AL6ER AYQIQ 64 J§ aagITe adyem?

Ans X 1. G561 QR0 AL,
o 2. 602 QEIQIYT 2rong ¥RI0 @8 9@ FIFeRIR @8 QgQl il
< 3. 66Ia AINge age

X 4. 0l0ede Jeene 6diediy 2y QLIRQI ARl

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680444015
6306801733378
6306801733376
6306801733377
6306801733375
Answered

2

Section : Part 1 General Knowledge and Current Affairs




Q1 Which among the following is NOT a feature of Private Bill?

Ans 1. It reflects the stand of opposition party on public matter
X 2. Its drafting is the responsibility of the member concerned
X 3. Its introduction requires one month’s notice in the House

« 4. It is introduced by a minister only in parliament

Question ID : 630680444024
Option 11D : 6306801733413
Option 2 ID : 6306801733414
Option 31D : 6306801733412
Option 4 ID : 6306801733411
Status : Answered
Chosen Option : 4

Q.2 ‘Nutrition at Doorsteps’ program has been launched by which among the following state?

Ans X 1. Chhattisgarh
X 2. Madhya Pradesh

+ 3. Odisha
X 4. Tharkhand

Question ID : 630680444019
Option 11D : 6306801733392
Option 2 ID : 6306801733393
Option 3 1D : 6306801733394
Option 4 ID : 6306801733391
Status : Answered
Chosen Option: 3

Q3 How many bronze medals has been won by India in Asian games 20237

Ans X' 1. 55
X2 63
X 3. 107

¥4 41

Question ID : 630680444017
Option 11D : 6306801733384
Option 2 ID : 6306801733385
Option 31D : 6306801733386
Option 4 ID : 6306801733383
Status : Answered
Chosen Option : 3




Q.4 Hill Area Development Programme was initiated during which of the following Five-Year Plan?

Ans X 1. Second Five-Year Plan
< 2. Third Five-Year Plan
X 3. Fourth Five-Year Plan
+ 4. Fifth Five-Year Plan

Question ID : 630680444026
Option 11D : 6306801733419
Option 2 ID : 6306801733420
Option 31D : 6306801733421
Option 4 ID : 6306801733422
Status : Answered
Chosen Option : 4
Q5 WWhat is the normal diastolic blood pressure in human beings?
Ans X1, 120 mm of Hg
« 2. 80 mm of Hg
X3 110 mmof Hg
X 4. 90 mm of Hg
Question ID : 630680444025
Option 11D : 6306801733415
Option 2 ID : 6306801733418
Option 3 1D : 6306801733416
Option 4 ID : 6306801733417
Status : Answered
Chosen Option : 1
Q.6 As per Koeppen classification of climates, what type of climate does “Cs” represents?
Ans X 1. Mid-latitude deserts
+ 2. Mediterranean
X 3. Tropical wet and dry
< 4. Tundra
Question ID : 630680444022
Option 11D : 6306801733405
Option 2 ID : 6306801733403
Option 31D : 6306801733406
Option 4 ID : 6306801733404
Status : Not Answered

Chosen Option :




Q7  qiossn Cidioe 9gEe 906 AedIgRae FI0I0s! 9F ¢ 9F GRS 691R FRE BI61E6R a8 °AIR IR ZRIARED

CoOIPRT GRIQIRE?

Ans X1 lISc- 696igR
x2 lIT- ggla
« 3. |IT- QlSaelc
< 4 €4a0 T NFRldGera 1gendy
Question ID : 630680444018
Option 11D : 6306801733387
Option 2 ID : 6306801733390
Option 31D : 6306801733389
Option 4 ID : 6306801733388
Status : Answered
Chosen Option : 1
Q8  “Nagpur Plan’ was drawn in which of the following year?
Ans 1. 1943
X 2. 1955
X< 3. 1956
X 4 1961
Question ID : 630680444023
Option 1 ID : 6306801733408
Option 2 ID : 6306801733409
Option 31D : 6306801733410
Option 41D : 6306801733407
Status : Answered
Chosen Option : 2
Q.9 Which rebellion was started by Ratna Naik and Dharanidhar Naik in Odisha?
Ans 1. Bhuiyan Rebellion
X 2. Munda Rebellion
X 3. Santhal Rebellion
X 4. Ghumsur Rebellion
Question ID : 630680444021
Option 1 ID : 6306801733399
Option 2 ID : 6306801733401
Option 3 ID : 6306801733402
Option 4 ID : 6306801733400
Status : Answered
Chosen Option: 3




Q.10 Which among the following committee was formed to look after the Jallianwala Bagh Massacre?
Ans X 1. Simon commission

X 2. McCaulay commission

« 3. Hunter commission
X 4. Wood's Dispatch

Question ID : 630680444020
Option 11D : 6306801733395
Option 2 ID : 6306801733398
Option 31D : 6306801733396
Option 4 ID : 6306801733397
Status : Answered
Chosen Option : 3

Section : Part 1 Reasoning Ability

Q1 How is Muskaan related to Muskaan's husband's father-in-law's wife?

Ans  X'1. Mother
X 2. Grandmother
« 3. Daughter

X 4. Mother in law

Question ID : 630680444031
Option 1 ID : 6306801733440
Option 2 ID : 6306801733439
Option 3 ID : 6306801733441
Option 4 ID : 6306801733442
Status : Answered
Chosen Option: 3

Q2 Which of the following four options embeds the original figure X?

(0.9] (1 @ (€)] “
LU S
V2 4
X3 2
X4 1

Question ID : 630680444034
Option 11D : 6306801733453
Option 2 ID : 6306801733454
Option 31D : 6306801733452
Option 4 ID : 6306801733451
Status : Answered
Chosen Option : 2




Q.3 What will come in the place of question mark (as per mineral deficiency and the diseases

caused)?
Iron : Anaemialodine :: lodine : ?
Ans X 1. Beri Beri
¥ 2. Goitre
X 3. Rickets
X 4. Hyponatremia

Question ID : 630680444033
Option 1 1D : 6306801733447
Option 2 ID : 6306801733448
Option 31D : 6306801733449
Option 4 1D : 6306801733450
Status : Answered
Chosen Option : 2
Q4 What will come in place of question marks?
AR, CQ, EP, GO, ?
Ans X1 1A
X2 Al
X3 NI
o4 IN
Question ID : 630680444029
Option 11D : 6306801733431
Option 2 ID : 6306801733434
Option 31D : 6306801733432
Option 4 ID : 6306801733433
Status : Answered
Chosen Option : 4
Q.5  Srikant ranks 14th from the top and 18th from the bottom in a group of students. How many students are there in the
group?
Ans X1 44
X2 33
¥ 3 31
<4 7]
Question ID : 630680444028
Option 1 ID : 6306801733427
Option 2 ID : 6306801733428
Option 31D : 6306801733429
Option 4 1D : 6306801733430
Status : Answered
Chosen Option : 2




Q.6

Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true,
even if it appears to be at variance with commonly known facts. decide which of the given conclusions logically
follow(s) from the statement(s).

Statements:
All the actors are villains.
All the villains are fans.
Conclusions:

1. All the actors are fans.

2. No villains are fans.

Ans 1. Only conclusion 1 follows
X 2. Both 1 and 2 follow
X 3. Neither 1 nor 2 follows
X 4. Only conclusion 2 follows
Question ID : 630680444032
Option 11D : 6306801733443
Option 2 ID : 6306801733445
Option 3 ID : 6306801733446
Option 4 ID : 6306801733444
Status : Answered
Chosen Option : 1
Q7 W means ‘“+. X means '-' Y means *x' and Z means *=°, then
S5Y2W4X10Z25="
Ans &1 12
<213
<311
X414
Question ID : 630680444035
Option 11D : 6306801733456
Option 2 ID : 6306801733457
Option 3 ID : 6306801733455
Option 4 ID : 6306801733458
Status : Answered
Chosen Option : 1




Q.8

Five boys Purab, Neeraj, Romesh, Sumit, and Tanuj are sitting in a straight line facing north direction. Tanuj is sitting at
the extreme right end of the straight line. Sumit is sitting second to the left of Tanuj. Purab is sitting between Sumit and
Tanuj. Neeraj is not sitting at any of the extreme ends of the straight line. Romesh does not sit at the extreme right end.

Who is sitting immediately on the right side of Romesh?

Ans X 1. Tanuj
« 2. Neeraj
X 3. Sumit
X 4. Purab
Question ID : 630680444027
Option 1 ID : 6306801733426
Option 2 ID : 6306801733425
Option 31D : 6306801733424
Option 4 ID : 6306801733423
Status : Answered
Chosen Option : 2
Q.9 IfDUST becomes SUDT and FIRST becomes SRIFT. What THIRST will become in the same manner?
Ans X1 SHIRTT
X 2. SRHITT
X 3. STTRIH
o 4 SRIHTT
Question ID : 630680444030
Option 11D : 6306801733436
Option 21D : 6306801733437
Option 31D : 6306801733438
Option 4 ID : 6306801733435
Status : Answered
Chosen Option : 2
Q.10 wWhat will come in the place of question mark to make it logically complete?
8,24, 48, 120,7
Ans X1 143
« 2. 168
X 3. 195
X4 178
Question ID : 630680444036
Option 11D : 6306801733461
Option 2 ID : 6306801733460
Option 3 ID : 6306801733462
Option 4 ID : 6306801733459
Status : Answered
Chosen Option : 2

Section : Part 1 Computer Literacy




Q.1  Which protocol is typically used for wired LAN connections to assign IP addresses automatically?

Ans X 1. DNS
+ 2. DHCP
X3 HTITP
X 4 FIP
Question ID : 630680444040
Option 11D : 6306801733478
Option 2 ID : 6306801733477
Option 3D : 6306801733475
Option 4D : 6306801733476
Status : Answered
Chosen Option : 1
Q2 YWhat is the primary purpose of a virtual machine (VM) application?
Ans X 1. Playing video games
X 2. Web browsing
3
Running multiple operating systems on a single physical machine
X 4. Creating 3D models
Question ID : 630680444039
Option 11D : 6306801733471
Option 2 ID : 6306801733473
Option 3D : 6306801733472
Option 4 ID : 6306801733474
Status : Answered
Chosen Option : 4
Q3 WWhat is the purpose of the Register Unit in the CPU?
Ans 1. To store data and instructions temporarily
X 2. To control external devices
X 3. To manage the CPU's power supply
X 4. To display output on the screen
Question ID : 630680444038
Option 11D : 6306801733467
Option 2 ID : 6306801733468
Option 3D : 6306801733469
Option 4D : 6306801733470
Status : Answered

Chosen Option :

1




Q.4 How can ICT improve the efficiency of administrative tasks in government schools?

Ans X 1. By promoting manual record-keeping

X 2. By slowing down data management processes
X 3. By increasing paperwork and bureaucracy

« 4. By automating and streamlining administrative tasks

Question ID : 630680444037
Option 11D : 6306801733466
Option 2 ID : 6306801733464
Option 31D : 6306801733463
Option 4 ID : 6306801733465
Status : Answered
Chosen Option : 4
Q.5 What is the primary advantage of adding a network printer over a local printer in an office setting?
Ans X 1. Network printers are easier to set up
X 2. Network printers require fewer cables
o 3.
Multiple users can access a network printer, reducing the need for individual printers
X 4. Network printers are typically less expensive
Question ID : 630680444041
Option 1 1D : 6306801733480
Option 21D : 6306801733482
Option 31D : 6306801733481
Option 4 ID : 6306801733479
Status : Answered
Chosen Option: 3
Section : Part 1 Child Development Learning Curriculum and Assessment
Q1 Goudiins 36a colal in Fgel AR ZICASE GOFIETER 6a8 FIRQ ZPINE CTIRRINT?
A 1 Grol
X 2 deleal
X 3. @e0Iae!
X4 GEee
Question ID : 630680444054
Option 11D : 6306801733531
Option 2 ID : 6306801733534
Option 31D : 6306801733533
Option 4 ID : 6306801733532
Status : Answered
Chosen Option : 2




Q.2 qige Fmie A0igd gReIn 6% dmiae aIfigey ALiRid 2egad Faase Fed Saudia BRIy giefinel seaTIsa?

Ans e
X1 AIFEl eRge
X 2. AGRR eage
X 3 gl 6hg@
& 4 SI AR
Question ID : 630680444051
Option 11D : 6306801733519
Option 2 1D : 6306801733521
Option 31D : 6306801733520
Option 4 ID : 6306801733522
Status : Answered
Chosen Option : 4
23 NCF 2005 @ g@ Qs @47
Ans X 1.001819 @0 QA9
X 2. 2ye BQL, 9@ A6 6l
o 3. J6QIg e ARRAINER QAR A4
X 4. 904R0R SRIRIR aA9g 219 @AQ!
Question ID : 630680444053
Option 11D : 6306801733527
Option 2 ID : 6306801733529
Option 3 ID : 6306801733528
Option 4 ID : 6306801733530
Status : Answered
Chosen Option : 3
Q.4  Vygotsky emphasized the importance of what in children's learning and development?
Ans X" 1. Punishments and rewards
X 2. Individual exploration
+ 3. Social interaction and culture
X 4. Biological maturation
Question ID : 630680444042
Option 11D : 6306801733484
Option 21D : 6306801733485
Option 31D : 6306801733483
Option 4 ID : 6306801733486
Status : Answered
Chosen Option : 3




Q.5

Ans

Jridivieg 690e @09l dinl GURES U 6996 Ue glafie @I 26s?

X 1. 6gldlgEa GIaelgl sl Qe

v 2. GOs0 F16I66 6991
X 3. 6olRR QIR @F AR FRIR SGS!

X 4 2@ 62IC18ID 659

Question ID : 630680444047
Option 11D : 6306801733503
Option 2 ID : 6306801733506
Option 3 ID : 6306801733504
Option 4 ID : 6306801733505
Status : Answered
Chosen Option : 2
Q.6  gqiE dRl FIow oRIee Jgelerss 19ig BIAe @A 9FQ Z6RT 20 IFal, 1R FIZIQ PAIE ZIEE?
Ans =
X1 Gosél
X 2. g
v 3 QIR 6 g6
X 4. QR4
Question ID : 630680444046
Option 11D : 6306801733501
Option 2 ID : 6306801733500
Option 31D : 6306801733499
Option 4 1D : 6306801733502
Status : Answered
Chosen Option: 3
0.7 bl — —
69% @I diEles dals F19eea Cme ¢lmH G 9919 9o @ea”?
Ans g1 (]
X2 Goiimel
X3 Qe
X 4. @G-66lF]
Question ID : 630680444044
Option 11D : 6306801733493
Option 2 ID : 6306801733491
Option 3 ID : 6306801733494
Option 4 ID : 6306801733492
Status : Answered
Chosen Option : 2




Q8  WWhat is a primary goal of a Core Curriculum?
Ans % 1. Encouraging specialization from the start

X 2. Preparing students for specific jobs

« 3. Ensuring a comprehensive educational foundation

X 4. Limiting students' exposure to diverse subjects

Question ID :
Option 11D :
Option2 1D :

630680444052
6306801733523
6306801733524
Option 3 ID : 6306801733525
Option 4 ID : 6306801733526
Status : Answered
Chosen Option: 3

Q9 Nature vs. Nurture debates aim to understand:

ORI 2B JaIa FIRYS TRIP 696 9@ RIG 266
Ans

X FdICIew 2ragedsly @ @Feld

X 2. GgldllgE AiFgla gleaias! gid @02l

X 4 6AITRE C6RYRlg 6dIIEe @GRl

Ans X 1. How plants grow in different soils
&2

The influence of genetics vs the environment in development

~ 3.

The parenting styles in various cultures vs home enviranment

X 4. The categorization of animals in nature
Question ID : 630680444043
Option 11D : 6306801733488
Option 2 ID : 6306801733490
Option 3 ID : 6306801733489
Option 4 ID : 6306801733487

Status : Answered
Chosen Option : 2
Q.10

v 3 BIERISRIC® SBlIQI 99° AN ARIS 6RIEIR 98 @2l

Question ID : 630680444055
Option 1 1D : 6306801733535
Option 2 ID : 6306801733537

Option 31D :
Option 41D :
Status :

Chosen Option :

6306801733538
6306801733536
Answered

3




M Fgel AR AIieRIT-2IIBE 2IRe giPfie AeY @87

AN X1 BRIl Al
v 2. QY60 4R 2°GIGRS K0S
X 3. Qioigee a@al

X 4 G2NGPY F1660gel

Question ID

Option 11D :

Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 630680444056
6306801733539
: 6306801733541
1 6306801733542
1 6306801733540
: Answered

12

Q.12 What percentage of seats in private schools is reserved for underprivileged children under RTE?

Ans X' 1. 50%
o 2. 250
X 3. 33%
X 4. 10%
Question ID : 630680444050
Option 11D : 6306801733517
Option 2 ID : 6306801733515
Option 31D : 6306801733518
Option 4 ID : 6306801733516
Status : Answered
Chosen Option : 2
a1 Qd 2gFc FedId 2PNESl disl FURS TR 6298 U@ AfiDR O8G 2I6e?
Ans L3
¢ 1. 646my QI
X 2. gad dauisl
X 3. dlfdedsl deigel daisl
X 4 RIQES gegian
Question ID : 630680444048
Option 11D : 6306801733509
Option 2 ID : 6306801733508
Option 31D : 6306801733510
Option 4 ID : 6306801733507
Status : Answered

Chosen Option :

1




Q14 qedeg saniee Barieg faueag A0RT dIn CUIATE *A%1Sa 639 QdIRTE Agiay FAAIRS?

A — — e —
X Pye GU 980 9880 @09l
X 2 §Qpda SAIRIe 99el 9F a09l
¢ 3 GIGIFINT 6C1IgE Y9Ie @09
X 4 QY G912 9U6R gEeae aelaal
Question ID : 630680444049
Option 11D : 6306801733514
Option 2 ID : 6306801733511
Option 31D : 6306801733512
Option 41D : 6306801733513
Status : Answered
Chosen Option: 3
Q15 -~ _ - [T _ %
QEIMYS CIQ 6@LC 'JOReRw S8l § 49019 AR WIET PG GER?
A —
v SIS 9EICEl 9960 GO8 BRI G0
X 2 €@ldld g9 KI5 &5 gl
X 3. 9QI26Q Sigel
X 4 RS0 dgel
Question ID : 630680444045
Option 11D : 6306801733496
Option 2 ID : 6306801733497
Option 31D : 6306801733495
Option 4 ID : 6306801733498
Status : Answered
Chosen Option : 1
Section : Part Il Subject Contents
Q.1 'YEDQRAT QINQ @F & 9?
Ans & 1. GEPRIQ 66162Q
2. QrIgil U,
X 3.00 A66Ia @f
X 4. FRIQ 67120 6dR100
Question ID : 630680444070
Option 11D : 6306801733590
Option 2 ID : 6306801733588
Option 3 ID : 6306801733589
Option 4 ID : 6306801733587
Status : Answered

Chosen Option :

1




Comprehension:

gIFIen A aeudien | girier 2886l eI fRa 6aeY g8 ¢ AIR 96 agufiene eIkt @RdIeg AIF
| 28861 991 629Q GIRG QIFNAQ 6QIV 696 R 6AAING 64 AFNER IETERE 60919 AR AR 1D |
U6rQ QNI YRS ea IFIER 26 FIg Jaare e AReEr dIR 60§ @aQ FIF 1e° 6x16d 6al6id
g6m 609190 ¢8I @oRIdY 62RO A1 | 6a1I6R 699R RRIdig @AQY o F6Raag |

APERAT AQRIAER R A@R & |

SubQuestion No : 2
Q.2 g¢: eaeId 6aa sea ania ?
Ans X 1.000a2¢
X 2.2161998
o 3. QoaIdY
& 49009

Question ID : 630680444060
Option 1 ID : 6306801733552
Option 2 ID : 6306801733554
Option 3 ID : 6306801733551
Option 4 ID : 6306801733553
Status : Answered
Chosen Option: 3

Comprehension:

gIFIen A aeudien | girier 2886l ZeIq fRa @aeY g8 ¢ AIR 9ge aeufieane aldt @QdIeg AIE
| 26861 991 629Q GIRG QIFNAQ 6QIV 696 R 6AAING 64 AFNER IEUERE 69919 AR AR 1D |
26r@ AIAIg YRS ea IFIER 26 FIg Jaare e dReEr dIR 60§ 897 FIF 1e° 6x16d 6al6id
g6m 609190 ¢8I @oRIdY 621RAIOY AIE | 6a71I6R 69eR RRIdIg G891 o F6raag |

AUPERRT ORCAER IER QAR @2 |

SubQuestion No : 3
Q.3 Q4 QIFI6R 6ael QIdig @6y Feq @QaNg ?
Ans X 1.9ql
X 2.Qql
/5 3. A6QARIR
o 4. QeI

Question ID : 630680444059
Option 11D : 6306801733548
Option 2 ID : 6306801733550
Option 3 ID : 6306801733547
Option 4 ID : 6306801733549
Status : Answered
Chosen Option : 4




Comprehension:

gIFIen A aeudien | girier 2886l eI fRa 6aeY g8 ¢ AIR 96 agufiene eIkt @RdIeg AIF
| 28861 991 629Q GIRG QIFNAQ 6QIV 696 R 6AAING 64 AFNER IETERE 60919 AR AR 1D |
U6rQ QNI YRS ea IFIER 26 FIg Jaare e AReEr dIR 60§ @aQ FIF 1e° 6x16d 6al6id
g6m 609190 ¢8I @oRIdY 62RO A1 | 6a1I6R 699R RRIdig @AQY o F6Raag |

APERAT AQRIAER R A@R & |

SubQuestion No : 4
Q.4 g4 agudien QIgIg Q@IAI?

Ans  F 1.919
& 2. aele dda fleng
& 3. qeng
& 4 aeng
Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID
Status :
Chosen Option :

630680444058

1 6306801733544

6306801733546

1 6306801733545
1 6306801733543

Answered
1

Q.5 ‘eqe’'q Q66IT616Q RIS FEM 629 -
Ans  # 1.2190

< 2.2

X< 3.aqe

X 4 AeR
Question ID : 630680444065
Option 11D : 6306801733567
Option 2 ID : 6306801733569
Option 31D : 6306801733568
Option 4 ID : 6306801733570

Status : Answered
Chosen Option : 4
Q.6 ‘giFlY 6Q 6R6! G MIQRIQ RAUAINE ?
Ans X 1.¢6Q

X2a

X 3.4

o 4.8
Question ID : 630680444067
Option 11D : 6306801733578
Option 2 ID : 6306801733576
Option 31D : 6306801733575
Option 4 ID : 6306801733577

Status : Answered
Chosen Option: 3




Comprehension:

gIFIen A aeudien | girier 2886l eI fRa 6aeY g8 ¢ AIR 96 agufiene eIkt @RdIeg AIF
| 28861 991 629Q GIRG QIFNAQ 6QIV 696 R 6AAING 64 AFNER IETERE 60919 AR AR 1D |
U6rQ QNI YRS ea IFIER 26 FIg Jaare e AReEr dIR 60§ @aQ FIF 1e° 6x16d 6al6id
g6m 609190 ¢8I @oRIdY 62RO A1 | 6a1I6R 699R RRIdig @AQY o F6Raag |

APERAT AQRIAER R A@R & |

SubQuestion No : 7
Q.7 g¢: “ad-66Ia1” QIIg QRIAIN ?
Ans X 1.604d9 @8 gia @taIg
X 2.6QQ0°QQ ARITG! 97
o 3. 60 QAY°Q 661IF61 @Y
X 4,60 90L°Q AR @07

Question ID : 630680444063
Option 11D : 6306801733562
Option 2 ID : 6306801733559
Option 31D : 6306801733561
Option 4 ID : 6306801733560
Status : Answered
Chosen Option : 2

Comprehension:

gIFIen A aeudien | girier 2886l ZeIq fRa @aeY g8 ¢ AIR 9ge aeufieane aldt @QdIeg AIE
| 26861 991 629Q GIRG QIFNAQ 6QIV 696 R 6AAING 64 AFNER IEUERE 69919 AR AR 1D |
26r@ AIAIg YRS ea IFIER 26 FIg Jaare e dReEr dIR 60§ 897 FIF 1e° 6x16d 6al6id
g6m 609190 ¢8I @oRIdY 621RAIOY AIE | 6a71I6R 69eR RRIdIg G891 o F6raag |

AUPERRT ORCAER IER QAR @2 |

SubQuestion No : 8
Q.8 g¢: ‘ASRIN'Q 2 @8 ?
Ans X 1.2192 @ 60¢IRQI
X 2. Q1A
X 3. Qaiaq!
o 4.089

Question ID : 630680444064
Option 11D : 6306801733563
Option 2 ID : 6306801733566
Option 3 1D : 6306801733565
Option 4 ID : 6306801733564
Status : Answered
Chosen Option : 4




Q.9

Ans

Comprehension:

gIFlen A aeudien | girier 2886l 2RI fRa 6aeY g8 ¢ AIR 9ee agufiena eIk @RdIeg AIE
| 28861 991 629Q IRG QIFNAQ 6QIV 694 NI 6AFING 64 ANER IQEUERE 60919 AR AR 1D |
U6rQ QNI YRS ea IFIER 26 FIg Jaare e dReEr dIR 60§ @aQ FIF 1e° 6x16d 6al6id
g6m 609190 ¢8I @oRIdY 621RAIOE A1 | 6a¢1I6R 69eR RRIdig @AQY o F6Raag |

APERAT AQRIAER R A@R & |

SubQuestion No : 9
dé: AQU6Qdlq AR AQER T6m 629 -
o 1. 9Q QU646
X 2. Ay QA6
X 3. Qar Qaeeé
X 4.4 Qa6eél

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680444062
6306801733556
6306801733558
6306801733557
6306801733555
Answered

1

Q.10 'ﬁl(‘j’ QAYId QILIQ QSR ?

Ans X 1.66IQ1R01E QI
X 2.00 Q6610 oR
X 3.9600 F21g
o 4. PRI 67190 69QIA0
Question ID : 630680444068
Option 11D : 6306801733579
Option 2 ID : 6306801733580
Option 3 1D : 6306801733582
Option 4 ID : 6306801733581
Status : Answered
Chosen Option : 4
Q.11 ‘QIee’ 6e &a& 61067
Ans o 1. QU +210Q
75 2. QI+ 2199
X 3.9+eQ
X 4.QU+eq
Question ID : 630680444066
Option 11D : 6306801733572
Option 2 ID : 6306801733571
Option 3 1D : 6306801733573
Option 4 ID : 6306801733574
Status : Answered
Chosen Option : 4




Q.12 '‘RAGAA'Q 6MEIR §9?

Ans

o 1. 601010121 191G
< 2.5gIq8 g
< 3.9609 7§
X 4. QIR QUL

Question ID : 630680444069
Option 11D : 6306801733584
Option 2 ID : 6306801733583
Option 3 ID : 6306801733586
Option 4 ID : 6306801733585
Status : Answered
Chosen Option : 1
Comprehension:
Read the following poem and answer the questions given below.
The grip of winter tightening, its thinned
volleys of blue-wing teal and mallard fly
from the longbows of reeds bent by the wind,
arrows of yearning for our different sky.
A season's revolution hones their sense,
whose target is our tropic light, while | awoke this sunrise to a violence of images migrating
from the mind
SubQuestion No : 13
Q.13 Which of the following statements is correct regarding the structure of the poem?
Ans X 1.No metaphor is used.
& 2. It doesn't follow a strict rhyme scheme.
Z5 3. Uniform length of stanzas is maintained
X 4.1t doesn't use vivid imagery.
Question ID : 630680444128
Option 11D : 6306801733784
Option 2 ID : 6306801733783
Option 3 ID : 6306801733785
Option 4 ID : 6306801733786
Status : Answered
Chosen Option : 2




Comprehension:
Read the following poem and answer the questions given below.

The grip of winter tightening, its thinned

volleys of blue-wing teal and mallard fly

from the longbows of reeds bent by the wind,

arrows of yearning for our different sky.

A season's revolution hones their sense,

whose target is our tropic light, while | awoke this sunrise to a violence of images migrating
from the mind

SubQuestion No : 14
Q.14 The speaker is referring to
Ans X 1. kites

X 2. water

& 3. birds
X 4. his friend

Question ID : 630680444129
Option 11D : 6306801733788
Option 2 ID : 6306801733787
Option 31D : 6306801733790
Option 4 ID : 6306801733789
Status : Answered
Chosen Option : 2

Comprehension:

Read the following poem and answer the questions given below.
The grip of winter tightening, its thinned

volleys of blue-wing teal and mallard fly

from the longbows of reeds bent by the wind,

arrows of yearning for our different sky.

A season's revolution hones their sense,

whose target is our tropic light, while | awoke this sunrise to a violence of images migrating
from the mind

SubQuestion No : 15
Q.15 Which of the following words mean the same as the word ‘yearning’?
Ans X 1.Signing

«" 2. Longing
/X 3. Calming
X 4. Maintaining

Question ID : 630680444130
Option 11D : 6306801733793
Option 2 ID : 6306801733792
Option 31D : 6306801733794
Option 4 ID : 6306801733791
Status : Answered
Chosen Option : 1




Comprehension:

Read the following passage and answer the questions given below.

While bats do have eyes, their eyesight is not their primary sense when it comes to navigating
and hunting in the dark. In fact, many species of bats have relatively poor eyesight compared
to other mammals, including humans. Bats typically have small eyes and are often active at
night, which means they have less need for acute vision.

Additionally, the way bats perceive and interpret their surroundings is quite different from how
humans do. Bats rely on a process called echolocation to navigate and find food in the dark.
Echolocation is similar to how dolphins and some species of whales use sonar to "see"
underwater.

SubQuestion No : 16

Q.16 Which of the following statements can be inferred from the passage?

Ans

«” 1. Both bats and human beings are mammals.
75 2. Not all bats are active at night.
75 3. Eyesight of all the bats is perfect.

/5 4. Bats behaviour is similar to human beings.

Question ID : 630680444133
Option 11D : 6306801733801
Option 2 1D : 6306801733800
Option 31D : 6306801733802
Option 4 ID : 6306801733799
Status : Answered
Chosen Option : 1
Comprehension:
Read the following passage and answer the questions given below.
While bats do have eyes, their eyesight is not their primary sense when it comes to navigating
and hunting in the dark. In fact, many species of bats have relatively poor eyesight compared
to other mammals, including humans. Bats typically have small eyes and are often active at
night, which means they have less need for acute vision.
Additionally, the way bats perceive and interpret their surroundings is quite different from how
humans do. Bats rely on a process called echolocation to navigate and find food in the dark.
Echolocation is similar to how dolphins and some species of whales use sonar to "see"
underwater.
SubQuestion No : 17
Q.17 Which of the following words means the same as the word ‘perceive’ used in the passage?
Ans  # 1. Anticipate
5 2. Disregard
/X 3. Misread
/X 4. Overpass
Question ID : 630680444134
Option 11D : 6306801733804
Option 2 ID : 6306801733805
Option 31D : 6306801733803
Option 4 1D : 6306801733806
Status : Answered
Chosen Option : 4




Comprehension:
Read the following passage and answer the questions given below.

While bats do have eyes, their eyesight is not their primary sense when it comes to navigating
and hunting in the dark. In fact, many species of bats have relatively poor eyesight compared
to other mammals, including humans. Bats typically have small eyes and are often active at
night, which means they have less need for acute vision.

Additionally, the way bats perceive and interpret their surroundings is quite different from how
humans do. Bats rely on a process called echolocation to navigate and find food in the dark.
Echolocation is similar to how dolphins and some species of whales use sonar to "see"
underwater.

SubQuestion No : 18

Q.18 What is the structure of the passage?

Ans

Z5 1. Process writing
«” 2. Descriptive
Z< 3. Enumeration

75 4. Cause and effect

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680444132
6306801733796
6306801733795
6306801733797
6306801733798
Answered

2

Q.19 Choose the option for the given blank that appropriately uses punctuation.

Ans

Hey! Get off
< 1. that floor,

«” 2. that floor!
X 3. that, floor!
X 4. that floor.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680444140
6306801733828
6306801733829
6306801733827
6306801733830
Answered

4




Q.20 A sentence has been given with a blank to be filled with an appropriate option. Choose the

Ans

correct alternative.

A plant-based diet does not mean the total
X 1. absented

X 2. absentee
" 3. absence
X 4. absent

of animal products.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680444135
6306801733810
6306801733809
6306801733808
6306801733807
Answered

3

Q.21 A sentence has been given with a blank to be filled with an appropriate option. Choose the

correct alternative.

Sanya her phone and plugged it in to charge.
Ans X 1.has shut
X 2.shuts
X 3. shuted
o 4. shut
Question ID : 630680444136
Option 11D : 6306801733813
Option 2 ID : 6306801733811
Option 31D : 6306801733814
Option 4 ID : 6306801733812
Status : Answered
Chosen Option : 4
Q.22 A sentence has been given with a blank to be filled with an appropriate option. Choose the
correct alternative.
The UNEA is a gathering all United Nations member states to discuss and adopt
policies tackling global environmental problems.
Ans X 1. with, of
o« 2. of, for
/X 3.0n,at
X 4. for,in
Question ID : 630680444138
Option 11D : 6306801733822
Option 2 1D : 6306801733821
Option 31D : 6306801733820
Option 4 1D : 6306801733819
Status : Answered
Chosen Option : 2




Q.23 A sentence has been given with a blank to be filled with an appropriate option. Choose the

Ans

correct alternative.

She was using
&" 1. No article

X 2.a
X 3.the
X 4.an

foul language in front of my teacher.

Question ID : 630680444137
Option 11D : 6306801733815

Option 2 ID : 6306801733817
Option 31D : 6306801733816
Option 4 ID : 6306801733818
Status : Not Answered
Chosen Option : --
Q.24 Choose the option for the given blank that appropriately uses punctuation.
We serve three ice cream vanilla, and blueberry.
Ans X 1. flavours- strawberry
/X 2. flavours: strawberry
/X 3. flavours; strawberry,
o 4. flavours: strawberry,
Question ID : 630680444139
Option 1 ID : 6306801733823
Option 2 ID : 6306801733826
Option 3 ID : 6306801733825
Option 4 ID : 6306801733824
Status : Answered
Chosen Option : 4
Q.25 Which of the following statements is correct regarding the Indian Mutiny of 1857?
I British Commander Woodbridge was killed in a battle.
II. Madha Singh was captured and hanged to death in 1858.
Ans 1. BothIandII
X 2 OnlyI
X3 OnlyII
X 4. Neither I nor II
Question ID : 630680444144
Option 1 ID : 6306801733845
Option 2 ID : 6306801733843
Option 31D : 6306801733844
Option 4 ID : 6306801733846
Status : Answered
Chosen Option : 3




Q26 Which of the following statements is correct regarding the Chilika Lake?
I It is the largest freshwater lake in India.
II. 1t lies to the south of the Mahanadi delta.

Ans @1 Only I

X 2. Weither I nor IT
X3 OnlyI
X< 4 BothTIandII

Question ID : 630680444151
Option 11D : 6306801733873
Option 2 ID : 6306801733874
Option 31D : 6306801733871
Option 4 ID : 6306801733872
Status : Answered
Chosen Option : 1

\

Q.27 Which of the following statements is correct regarding the interior of the earth?
I. During this season, the northeast trade winds prevail over the country.

II. The peninsular region does not have a well defined cold season.
Ans X 1. Only I
« 2. Both I and II
< 3. Neither I nor IT
X 4 OnlyI

Question ID : 630680444152
Option 11D : 6306801733876
Option 2 1D : 6306801733878
Option 31D : 6306801733877
Option 4 ID : 6306801733875
Status : Answered
Chosen Option : 4




Q.28 Which of the following statements is correct regarding the Indian judiciary?

1. The judiciary has the power to penalise those who are found guilty of contempt of court.

II. The judiciary is not financially dependent on either the executive or legislature.

Ans X 1. Neither I nor II
« 2. Both I and II
X3 OnlyII
X 4 OnlyI
Question ID : 630680444148
Option 11D : 6306801733861
Option 2 ID : 6306801733862
Option 31D : 6306801733860
Option 4 ID : 6306801733859
Status : Answered
Chosen Option : 2
Q29 Which of the following statements is correct regarding the Kalinga War?
I. The Kalinga War took place in 261 B.C.
II. Asoka accepted Buddhism afier the Kalinga war.
Ans X 1. Neither I nor IT
X 2 OnlyI
« 3. Both I and II
X 4 Only I
Question ID : 630680444143
Option 11D : 6306801733842
Option 2 ID : 6306801733839
Option 3 ID : 6306801733840
Option 4 ID : 6306801733841
Status : Answered
Chosen Option: 3
Q.30 is the largest river in the Indian desert region.
Ans X 1. Wardha
X 2. Musi
3. Luni
A 4. Bhima
Question ID : 630680444149
Option 11D : 6306801733865
Option 2 ID : 6306801733866
Option 3 ID : 6306801733863
Option 4 ID : 6306801733864

Status : Answered

Chosen Option :

3




Q31 Who raised the slogan, “Freedom is my birthright and I shall have it!”?

Ans X 1. Subhas Chandra Bose
+ 2. Bal Gangadhar Tilak
< 3. Chandra Shekhar Azad
X 4. Bipin Chandra Pal
Question ID : 630680444141
Option 11D : 6306801733832
Option 2 ID : 6306801733834
Option 3 ID : 6306801733833
Option 4 ID : 6306801733831
Status : Answered
Chosen Option : 2
Q32 YWhich of the following political parties belongs to Haryana?
I. Lok Janshakti Party
II. Indian National Lok Dal
Ans X 1. Neither I nor II
X 2 BothIandII
3 OnlyII
X 4 OnlyI
Question ID : 630680444147
Option 11D : 6306801733858
Option 2 ID : 6306801733857
Option 3 ID : 6306801733856
Option 4 ID : 6306801733855
Status : Not Answered
Chosen Option : --
Q.33 Article 21A of the Indian Constitution is related to which of the following provisions?
Ans X 1. Right to dignity
X 2. Right to privacy
« 3. Right to education
X 4. Right to information
Question ID : 630680444145
Option 11D : 6306801733850
Option 2 ID : 6306801733847
Option 3 ID : 6306801733849
Option 4 ID : 6306801733848
Status : Answered
Chosen Option : 3




Q.34 The National Human Rights Commission (NHRC) was established in .

Ans X' 1.199]
X 2. 1995
w3 1003
X 41997
Question ID : 630680444146
Option 11D : 6306801733851
Option 2 ID : 6306801733853
Option 3 ID : 6306801733852
Option 4 ID : 6306801733854
Status : Answered
Chosen Option: 3
@35 The Non-Cooperation-Khilafat Movement began in
Ans  X'1. 1919
<2 1923
¥ 3 102]
X4 1917
Question ID : 630680444142
Option 11D : 6306801733836
Option 2 ID : 6306801733838
Option 3 ID : 6306801733835
Option 4 ID : 6306801733837
Status : Answered
Chosen Option : 1
Q36 What is the average elevation of the Eastern Ghats?
Ans X' 1. 1200 metres
« 2. 600 metres
2 3. 900 metres
X 4. 300 metres
Question ID : 630680444150
Option 1 ID : 6306801733870
Option 2 ID : 6306801733868
Option 3 ID : 6306801733869
Option 4 ID : 6306801733867

Status : Answered
Chosen Option : 1

Section : Part Il Pedagogy




1 sqiGer- 96 6ReE e 697

BE2IE0 ERETIT PGl YBE 0EE?
Ans x 1. 985

Ans X1 g
X2 2
<3 4
4 Qg
Question ID : 630680444159
Option 11D : 6306801733906
Option 2 ID : 6306801733905
Option 3 ID : 6306801733904
Option 4 ID : 6306801733903
Status : Answered
Chosen Option : 4
Q.2

X2 qy
3 9%
X4 90
Question ID : 630680444157
Option 11D : 6306801733898
Option 21D : 6306801733897
Option 31D : 6306801733895
Option 41D : 6306801733896
Status : Answered
Chosen Option : 3
Q.3 BEUER 6R6EIT I°YQ IR AR 6QIR GRAAIRE?
Ans X1 ol
X2 ok
X3 09
o4 09
Question ID : 630680444158
Option 11D : 6306801733902
Option 21D : 6306801733900
Option 31D : 6306801733899
Option 41D : 6306801733901
Status : Answered
Chosen Option : 4




Q.4 2Jqg 204G @' gelarg?

Ans 1. QUG
X 2. G
X 3 Ggalsl
A4 gl
Question ID : 630680444153
Option 11D : 6306801733879
Option 21D : 6306801733881
Option 31D : 6306801733882
Option 41D : 6306801733880
Status : Answered
Chosen Option : 1
0.5 Fom ) b = W 1 b o
glle GlnQl Gim RIGE- 9% INYeQ "Glnal” 6% YYxQdla J97?
A X G
X2 geoqiel
< 3. Tl
v 4 QeI
Question ID : 630680444155
Option 11D : 6306801733887
Option 2 1D : 6306801733889
Option 3 1D : 6306801733890
Option 4 ID : 6306801733888
Status : Answered
Chosen Option : 4
.6 — =, i, " e o=
Q YR @ el el 418 @ell- ¥ @IVl TIEl QIEIdin @YY EYma”?
Ans 1. 9G G4
X 2 @@.
¢ 3. 20l 9% @ddl
x4 QF
Question ID : 630680444156
Option 11D : 6306801733894
Option 21D : 6306801733891
Option 31D : 6306801733893
Option 4 ID : 6306801733892
Status : Answered
Chosen Option: 3




Q7 Qe am Sl 98 FI¥en G goye VIPIUSAIY QI UF 659 Gl YIS CIDE?

Ans X1 Qg
o 2. ZlIQa
PR
X 4 Q190

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

630680444160
6306801733909
6306801733908
6306801733910
6306801733907
Answered

Chosen Option : 2

Q.8 64 6a16d QAR B Q1 JEgEg @6 gRAAIN ?

Ans o1 QU
o 2. @Yl
X 3. @Iy
X 4 Gy
Question ID : 630680444154
Option 11D : 6306801733883
Option 2 ID : 6306801733886
Option 31D : 6306801733884
Option 4 ID : 6306801733885
Status : Answered
Chosen Option : 2
Q.9 The English learning environment may be classified into which of following categories?
I. Acquisition-rich environments
II. Acquisition-poor environments
Ans X 1. Neither I nor IT
+ 2. BothIand II
X3 OnlyI
X 4 Only I
Question ID : 630680444194
Option 11D : 6306801734046
Option 2 ID : 6306801734045
Option 3 ID : 6306801734043
Option 4 ID : 6306801734044
Status : Answered
Chosen Option : 2




Q10 which of the following is NOT an example of pre-reading activities?

Ans X 1. Pictures
« 2. Creative writing
X 3. Brain storming
X 4. Discussion
Question ID : 630680444196
Option 11D : 6306801734053
Option 2 ID : 6306801734054
Option 3 ID : 6306801734051
Option 4 ID : 6306801734052
Status : Answered
Chosen Option : 2
Q.11 Read the following conversation and accordingly identify the correct statement.
Employee: May I come in Sir? Good morning Sir.
Boss: Yes, come in. Good Morning.
Employee: I've come to request you to grant me leave for a few days.
Boss: For how many days? Where do you have to go?
Employee: For a week sir. I've to go to Delhi to attend a wedding in the family.
Ans 1. The relationship between speaker and listener is distant.
X 2. The relationship between speaker and listener is cordial.
X 3. The relationship between speaker and listener is infimate.
X 4. The relationship between speaker and listener is informal.
Question ID : 630680444200
Option 11D : 6306801734070
Option 2 ID : 6306801734069
Option 31D : 6306801734067
Option 4 ID : 6306801734068
Status : Answered
Chosen Option : 2




Q.12

Listening is a skill while speaking is a skill.
Ans 1. receptive; productive
X 2. productive: technical
X 3. productive; receptive
X 4. technical; receptive
Question ID : 630680444195
Option 11D : 6306801734048
Option 2 ID : 6306801734047
Option 3 ID : 6306801734049
Option 4 ID : 6306801734050
Status : Answered
Chosen Option : 1
Q13 wWhy it will be very difficult to neglect English language?
Ans

X 1. Because of its S.0.V format.
X 2. Because of no rules.
« 3. Because of rich literature.

X 4. Because of unique grammar.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680444193
6306801734041
6306801734042
6306801734039
6306801734040
Answered

3

Q.14 ‘Vocabulary and structures should be reintroduced in subsequent units whenever logical or possible. This is called the

Ans

X 1. graded approach

X 2. multiple line of approach
« 3. spiral approach

X 4. oral approach

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680444199
6306801734066
6306801734064
6306801734063
6306801734065
Answered

3




Q.15

Ans

activities can be done in teaching fiction in the class.

I. Rewriting the story

II. Visnalization, to make situation real for the students.
« 1. BothIandII

X2 Onlyl

X 3 OnlylI

X 4. Neither I nor IT

Question ID : 630680444198
Option 11D : 6306801734061
Option 2 ID : 6306801734060
Option 31D : 6306801734059
Option 4 ID : 6306801734062
Status : Answered
Chosen Option : 2

Q.16 Which of the following stages contribute to the development of writing skill in a learner?

Ans

I. Reviewing
II. Drafting

X 1. Neither I nor IT
2. Both I and II
X3 OnlyI

X 4 Only I

Question ID : 630680444197
Option 11D : 6306801734058
Option 2 ID : 6306801734057
Option 31D : 6306801734055
Option 4 ID : 6306801734056
Status : Answered
Chosen Option : 4




Q.17 students learn social sciences in the school in order to achieve which of the following objectives?

Ans

I. To enquire, judge and criticize the social system for its formation and change.

II. To appreciate their own culture, tradition and value system.

X 1. Neither I nor II
+ 2 BothIandII

X3 OnlyII
X 4 Only1
Question ID : 630680444202
Option 11D : 6306801734078
Option 2 ID : 6306801734077
Option 31D : 6306801734076
Option 4 1D : 6306801734075
Status : Answered
Chosen Option: 2
Q.18 Faidhe geed Blead G QiR BIG § AIT9I IS ARIRIR-S89 QIIARIC 2ISHGE GAFI IR FRYISE QOIC |
Ans — oo
X 1. GRS (Glpeslda)
v 2 GgE (egaeea)
X 3. 9619 gor (ARTR)
X 4. QOGSIRS (CrElITE)
Question ID : 630680444206
Option 11D : 6306801734091
Option 2 ID : 6306801734093
Option 31D : 6306801734094
Option 4 ID : 6306801734092
Status : Answered
Chosen Option : 4
Q19 Gohge crip 626 6aIRI-6aGe 080 Far 00da §8e Faa A9 Fuaeg A8l 6o A 9agse ?
Ans s 1 ERRG G2l BlEmIoq! g
X 2. ZlIeRlga!
X 3 fled fgg
X4 Joq
Question ID : 630680444203
Option 11D : 6306801734081
Option 2 ID : 6306801734082
Option 31D : 6306801734079
Option 4 ID : 6306801734080
Status : Answered
Chosen Option : 2




920 coia use 96esa FoRYe FrIQ 609 @BF A0 Tee ?

| 2 LROFINR Sfd0 SR 9960 2GS |

Il €6IRIQ AGAFIER Fem AR AMARITER JRIIFEE 9@ 6aaaIfes |

Ans

— o
X @) Il gew
X2 gaoell
X3 caow |
o 4 @il | 99°
Question ID : 630680444208
Option 1 ID : 6306801734102
Option 2 ID : 6306801734100
Option 31D : 6306801734099
Option 4 ID : 6306801734101
Status : Answered
Chosen Option : 4
Q.21 is a pedagogic technique to help students see explicitly how new concepts can be related to previously learned
coneepts.
Ans

X 1. Panel Discussion
« 2. Concept mapping

X 3. Problem Solving
X 4. Scrapbook

Question ID : 630680444204
Option 11D : 6306801734086
Option 2 ID : 6306801734083
Option 31D : 6306801734085
Option 4 ID : 6306801734084
Status : Answered
Chosen Option : 4

Q.22 In the context of specific objective of teaching social sciences, which of the following themes is associated with
appreciating the skills and knowledge of hunter gatherers?

Ans X 1. The First Empire
X 2. Political Developments

+ 3. The Earliest Societies
X 4. The First Cities

Question ID : 630680444201
Option 11D : 6306801734073
Option 2 ID : 6306801734074
Option 3 ID : 6306801734071
Option 4 1D : 6306801734072
Status : Answered
Chosen Option: 3
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Question ID : 630680444205
Option 11D : 6306801734088
Option 2 ID : 6306801734087
Option 31D : 6306801734090
Option 4 ID : 6306801734089

Status : Answered
Chosen Option : 4
Q.24

Which of the following is an example of formative evaluation?
I. regular classroom observation of the teachers

IT. unit end examination

Ans 1. BothIandII

X 2 OnlylI

X3 OnlyIl

X 4. Neither I nor IT

Question ID : 630680444207
Option 1 ID : 6306801734097
Option 2 ID : 6306801734095
Option 31D : 6306801734096
Option 4 1D : 6306801734098
Status : Answered
Chosen Option : 2




